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| went to the shop to return the shirt.
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My sister got married to a doctor to be
a housewife. 2iL|= 2|Al2} HE5HA
HUFF71 E|UO.
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| was excited to visit my parents in Iraq.
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The book is easy to read because it’s a
children’s book. 0| 242 o}z£ zH0|2} 2{7|
#¥.
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Exercises
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1. The movie is violent for my son to
watch. ( )

2.1 need to go home to pick up the
document. ( )

3. | have no money to spend. ( )
4. You must be so sad to hear that. ( )
5. My dream is to be a great scientist. ( )
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6. The princess was very hard to please.

7. Jake returned to his hometown to
run his father’s business.

8. He came home early to watch the
soccer game.

9. She was surprised to hear the news.
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Choose the right adverb.

1. He woke up (late / early), so he
missed his train.

2. Don’t squeeze the baby too (hard /
gently). Rub his belly (hard / gently).
3. She’s walking very (slowly / fast) to
lose weight.

4. He (often / rarely) drinks coffee. It
keeps him awake at night.

5. (Mildly / Severely) hurt, the fireman
was transported to the hospital.

6. The cat walked (quite / quietly) not
to wake the dog.



= sk= - A7 2 Be a Good English Teacher!

Good news! Taewoo’s English is getting better because of
his hard work. He wrote the following sentences. Correct
the sentences. If there is no error, write “Good Job!”!
1.1 can hard believe we have snow in
September.

2. You should practice hardly if you
want to be on stage.

3. It’'s hard to get a taxi lately at night.
4. The unemployment rate in the U.S.
has skyrocketed late.

5. The bird is flying highly in the sky.
6. Mr. Kim is a highly sensitive person.
7. Near 30% of the entire population
has never met a foreigner.
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1.I'm / to / old / enough / drink
» I'm old enough to drink,

2. enough / win / we / time / have / to /

the game
>

3. found / warm / us / keep / wood /
enough /1/to
>

4.I'm / carry / the books / enough /

strong / to
>
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5. mature / You're / decide / enough /
to / on your own
>

6. don’t /1 / enough / have / money/ to
buy it
>
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1. | called Mike because | should let
him know the truth about his wife.

| called Mike to let him know the
truth about his wife.

2. 1 was logged on the library
website because | had to do some
research on dinosaurs.

| was logged on the library
website
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3. The actor woke up and found
himself tied to the chair.

The actor woke up

4. He returned to his hometown and
opened a Mexican restaurant,

He returned to his hometown
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5. He was devastated after hearing
his wife was cheating on him.

He was devastated

6. The man was excited because he
moved to his hometown.

The man was excited
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7. The book is easy. People can easily
understand the book.

The book is easy

8. The program is hard. People
cannot utilize the program easily.

The program is too hard



